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B.A. Honours 1st semester Examination, 2018

PHIACORO1T-PHILOSOPHY (CC1)

HISTORY OF WESTERN PHILOSOPHY

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. 2Nf&F F7 5757 YT ‘2"1/5717 [zt Fe
Candidates should answer in their own words AN [HCS SIA I TS SFANL T
and adhere to the word limit as practicable. a7 !

All symbols are of usual significance.

Question No. 1 and 2 are compulsory. Answer any ftwo from the rest.
SR @3 T &P WA | SR (F-CHIA 76 @vea Ted wie)
1. Answer any five questions from the following: 2x5=10

FrefoRe Q-G 263 oo Tea me:

(a) Which Philosophers are called ‘The Ionians’ and why?
@i v SN 6T T @R @4 9

(b) Who are Sophists?
s v it ¢

(c) What are the characteristics of true knowledge, according to Plato?
&1 Wee, FALEIcTa A Erefd Jt o

(d) How does Aristotle define ‘matter’ and ‘form’?
IFE06 Freid TAMT 8 FFT-G7 TRE@| W 2

(¢) How many types of ideas are admitted by Descartes and what are they?
IS TS 2T YR FFIF I 9k orefer & [ 2

(f) What does Spinoza mean by ‘modes’?
‘R Il “RIIF I@ire Poitaren F1 IR 9

(g) What is the ‘Law of Sufficient Reason’ as admitted by Leibnitz?
aizafe Tgs wifie g P 7

(h) What is law of contradiction according to Leibnitz?
aizafre TorpiE TRt fesf § o

(i) What is an “attribute’ according to Spinoza?

PoirareTg SCe ‘@’ Fi 9
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(j) What is Eleatic School?

femilte Femy I0e I @RI 2

Answer any two questions from the following: 5x2=10

e -l 7f6 avis Ted wies

(a) Explain the Philosophical View of Anaximenes. 5

SpIRCTAeR Wi Team I 391

(b) What does Descartes mean by ‘Criterion of Truth’? 5

(RS FTETOIF NAXS’ IS I JRACACRA ?

(c) Explain the distinction between the three levels of knowledge as admitted by 5

Spinoza.

Poraiet TFe BRI fox 2R B AL JYE 341

(d) Explain Leibnitz’s doctrine of ‘Pre-established harmony’. 5
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Briefly discuss Aristotle’s objections against Plato’s theory of ideas. Discuss, in 1243
this connection Aristotle’s ‘Third Man’ argument.
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How does Descartes arrive at his principle “Cogito ergo sum”? Can it be regarded 10+5
as the foundation of his Philosophy? — Discuss.
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How does Spinoza define ‘Substance’? Explain, following Spinoza, how 8+7
substance is related to attributes.
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RIS

Explain in brief, Leibnitz’s doctrine of Monads. How many types of monads are 8+7
recognised by him and how does he explain their relationship?
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